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000m3 AT ;
Bt 2 1 11,562, 781 | B84 (L42) hE 1+ 380 m3
2. 5mAT ;
EuNE R 990 m3
2. 5mPL 4. OmARTi ;
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4. 0mPL E
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0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 4, 300 m3
+Hw 550, 000m3 AT ;
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Rt B A Im3Y4 v R 20kg/m3 ;
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FAEBRIEET A2/ (20) AHIEE 50mm 1. 4mAT
(1824 v S 1 v JE50mmEd T)
g (I - BIF ) 661 m2
AR A2 (20) AH%5/E 50mm 1. 4mPd |3
.OmELF
feZamm 2 1 2,355,320 | HISEBIRT 0y 440 n
C&E (150 X 150 X 600) ;
HEE L = 1 119, 250
REVEITUE L T = 1 84, 630 |2/ -MEEEUE L 10 m3
HAEEY BblE T
TR AL T = 1 34,620 | EREM 10 m3
/)Y - hik (AT
By 10 m3
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% T = 1 4,579,416
THEHER T = 1 4,194, 356 | FAbF) 1 =
H R BLE Al 1 X
B EHT = 1 385,060 | AQiEFEEE S 5 1 =
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HiE X 1 4,391, 000
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